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Name:  ...............................................................  Date: ..................................................................  

Highlight the coordinating conjunctions in green and the subordinating conjunctions in yellow. Remember to 
use FANBOYS to find coordinating conjunctions. 

for after if 

whenever since nor 

yet as before 

because and though 

while or so 

so that although but 
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  Coordinating and subordinating conjunctions 
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Answers 

Coordinating are highlighted green and subordinating conjunctions are highlighted yellow. 
 

for after if 

whenever since nor 

yet as before 

because and though 

while or so 

so that although but 
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Writing Resource 1 

______________________________________________________________________________________

______________________________________________________________________________________

 - Example 1 :ULWLQJ�5HVRXUFH�����([DPSOH��



Writing Resource 1  - Example 2

________________

______________________________________________________________________________________

______________________________________________________________________________________

______________
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One-Step Division Word Problem: 
Exact Answer

A group of 48 children is divided into groups of 6 children. 
How many groups will be formed?

48 ÷ 6 = 8
There will be 8 groups. 

0DWKV�5HVRXUFH���



 

One-Step Division Word Problem: 
Remainder Not Used

A pot holds 6 pencils. 
How many full pots can be made from 51 pencils?

51 ÷ 6 = 8 r3
The remainder is not used.

8 pots will be filled with 6 pencils.
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One-Step Division Word Problem: 
Remainder Used

A table seats groups of 6 children. 
How many tables are needed for 45 children?

45 ÷ 6 = 7 r3
The remaining children need a table.

8 tables are needed.
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Two-Step Division Word Problem: 
Division First

A sports shop has 3 packs of balls, each containing four balls. It also has 
52 balls which are also made into packs of four balls. 

How many packs of four balls are there now?

52 ÷ 4 = 13; 13 + 3 = 16  
There are 16 packs of balls.
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16 + 15 = 31; 31 ÷ 4 = 7 r3; the remainder is used. 
8 tables are needed.

Two-Step Division Word Problem:  
Division Second

There are 16 girls and 15 boys in a class. They are organised into tables 
of four. How many tables are needed to sit all of the children?
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12 × 3 = 36;
8 × 6 = 48;

36 + 48 = 84;
84 ÷ 15 = 5 r9  

5 bags of 15 marbles will be made.

Multi-Step Division Word Problem (1)
A toy shop has 3 bags of 12 marbles, and 6 bags of 8 marbles. The 

marbles are combined to make new bags of 15 marbles. How many full 
bags will be made?
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48 ÷ 6 = 8;
27 ÷ 6 = 4 r3;

8 + 4 = 12  
Each pot will have 12 writing implements.

Multi-Step Division Word Problem (2)
A teacher has 48 pencils and 27 pens. The teacher shares the pens and 
pencils equally into 6 pots. How many writing implements are shared into 

each pot?
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One-Step Division No Remainders Word Problems

One-Step Division No Remainders Word ProblemsOne-Step Division No Remainders Word Problems

One-Step Division 
No Remainders
Word Problems

1. A teacher asks some children to arrange 
36 chairs into rows of nine chairs. 
How many rows will there be? 

2. ��6E4G8�;B?7F����5BŠ?8F���BJ�@4AL�C46>F�
B9���5BŠ?8F�J<??�58�<A�846;�6E4G8�

3. ��C;BGB:E4C;8E�CE<AGF����C;BGB:E4C;F�GB�
4EE4A:8�<A�4A�4?5H@���46;�C4:8�J<??�6BAG4<A���
C;BGB:E4C;F���BJ�@4AL�C4:8F�J<??�58�HF87�
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One-Step Division No Remainders Word Problems

One-Step Division No Remainders Word Problems

One-Step Division No Remainders Word Problems

One-Step Division No Remainders Word Problems

4. �CC?8F�4E8�FB?7�<A�C46>F�B9�F8I8A�4CC?8F���BJ�
@4AL�C46>F�64A�58�@478�9EB@��~�4CC?8F�

5. ��?4E:8�C46>�B9�~���@4E5?8F�<F�F;4E87�
equally into 12 bags. How many 
marbles will there be in each bag?

6. ';8E8�4E8����G8AA<F�54??F�<A�4�GH5��';8�G8AA<F�
balls are organised into sets of four tennis 
balls. How many sets will there be?

7. ';4A>�LBH�64E7F�4E8�FB?7�<A�C46>F�B9���64E7F��
�BJ�@4AL�C46>F�64A�58�@478�9EB@�~���64E7F�

Thank you!
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One-Step Division No Remainders Word Problems One-Step Division No Remainders Word Problems

��� 105 books are arranged onto some 
F;8?I8F��';8E8�4E8�Ŝ9G88A�5BB>F�BA�846;�
F;8?9���BJ�@4AL�F;8?I8F�4E8�HF87�

Answers
1. 4 rows

2. ~��C46>F

3. ~��C4:8F

4. ~��C46>F

5. 11 marbles

6. 17 sets

7. ���C46>F

��� ��F;8?I8F
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One-Step Division With Remainders Word Problems

One-Step Division With Remainders Word ProblemsOne-Step Division With Remainders Word Problems

One-Step Division 
With Remainders 

Word Problems

1. A teacher asks some children to organise a 
box of 37 quoits by hanging them in threes on 
some hooks. How many hooks are needed? 

2. Forty-six pieces of apple are shared 
equally among 9 children. How many 
pieces of apple do each receive?

3. �A�4A�BŞ68
�G;8E8�4E8���78F>F����C46>�
of 35 sets of sticky notes need sharing 
equally among the desks. How many 
sets of sticky notes are on each desk?

twinkl.com
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One-Step Division With Remainders Word Problems

One-Step Division With Remainders Word Problems

One-Step Division With Remainders Word Problems

One-Step Division With Remainders Word Problems

4. A group of 57 dancers are organised 
into groups of nine. How many full 
groups of nine can be created?

5. A factory makes 67 cars in one day. 
�46;�64E�GE4AFCBEG8E�64A�64EEL���64EF��
How many transporters are needed 
to carry all the cars away?

6. �4A4A4F�4E8�FB?7�<A�C46>F�B9�ŜI8���BJ�
@4AL�6B@C?8G8�C46>F�B9�ŜI8�54A4A4F�
can be made from 136 bananas?

7. ��F6;BB?�C4EGL�B9����6;<?7E8A�4E8�GB�
travel on a steam train. 9 children can 
ŜG�<AGB�846;�6B@C4EG@8AG���BJ�@4AL�
compartments will be needed?
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One-Step Division With Remainders Word Problems One-Step Division With Remainders Word Problems

��� A plate holds 6 pieces of cake. How many 
full plates can be created from 74 pieces?

Answers
1. 13 hooks

2. 5 pieces

3. 4 sets

4. 6 groups

5. 9 transporters

6. 27 packs

7. 10 compartments

��� 12 cakes
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Two-Step Division Word Problems

Two-Step Division Word ProblemsTwo-Step Division Word Problems

Two-Step Division
Word Problems

1. There are seventeen boys and fourteen 
girls in a class. The children sit at tables 
of 4. How many tables are needed?

2. A pencil factory makes 463 pencils in one 
hour, but 32 are found to be faulty. The pencils 
are sold in packs of 12. How many packs 
J<??�58�Ŝ??87�5L�G;8�ABA�94H?GL�C8A6<?F�

3. A teacher has 2 boxes of pencils. One has 
173 pencils and the other 149 pencils. 
He puts the pencils together and shares 
them equally into 7 pots. How many 
pencils will there be in each pot?

twinkl.com

twinkl.com twinkl.com
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Two-Step Division Word Problems

Two-Step Division Word Problems

Two-Step Division Word Problems

Two-Step Division Word Problems

4. A grocer has 189 baking potatoes. The grocer 
puts 75 baking potatoes out individually and 
bags the rest of the potatoes into packs of 6. 
How many packs of 6 does the grocer make?

5. A toy warehouse has 156 packs of 3 cars. The 
64EF�4E8�GB�58�E8�5BK87�<A�C46>F�B9�����BJ�@4AL�
packs of 5 can be made from these cars?

6. A sports trust organises a football competition. 
23 teams of 11 players enter, and 176 
individual players who want to be made 
into new teams. If all the individual players 
are made into new teams of 11 players, how 
many teams will play in the competition?

7. Marbles are sold in bags of 25. A marble 
machine produces 1892 marbles per 
hour. How many bags of 25 marbles 
64A�58�Ŝ??87�9EB@�G;8�@4E5?8F�@478�5L�
this marble machine in six hours?
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Two-Step Division Word Problems Two-Step Division Word Problems

8. A sports shop has 45 boxes of tennis balls, 
each with 3 tennis balls. It also has 129 tennis 
balls which are put into boxes of 3 tennis 
balls. How many boxes are there altogether?

Answers
1. 8 tables

2. 35 packs

3. 46 pencils

4. 19 bags

5. 93 packs

6. 39 teams

7. 454 bags of marbles

8. 88 boxes
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Multi-Step Division Word Problems Challenge Cards

Multi-Step Division Word Problems Challenge CardsMulti-Step Division Word Problems Challenge Cards

Multi-Step Division 
Word Problems

Challenge Cards

1. A teacher has 7 packs of 12 pencils and 
2 packs of 54 pencils. The teacher shares 
these pencils out into 8 pencils pots. How 
many pencils will be in each pot?  

2. A child has a collection of football cards. 
They are to be kept in a folder with 9 cards 
on each page. The child has 28 complete sets 
of 12 cards, and another 61 cards. How many 
pages will be needed to store the cards.

3. A printer can print 14 birthday cards on a sheet 
of card. The printer needs to print the following:

• 28 packs of 4 cards

• 18 packs of 10 cards

How many sheets of cards will be needed to print 
these cards?

twinkl.com
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Multi-Step Division Word Problems Challenge Cards

Multi-Step Division Word Problems Challenge Cards

Multi-Step Division Word Problems Challenge Cards

Multi-Step Division Word Problems Challenge Cards

4. A ten pin bowling alley buys 6 packs of new 
pins, with each pack containing 8 pins. 
All the pins in the alley are collected from 
the lanes and counted. Of the 267 pins, 
29 are thrown away due to damage. The 
remaining pins and new pins are combined 
and shared equally among the 18 lanes, with 
any remaining pins kept as spares. How 
many pins will be allocated to each lane? 

5. A local charity has 3 fundraising events. 
The events raise £176, £81 and £309 each. 
After costs of £92 are deducted, the money 
is shared equally among 3 local children’s 
group. How much does each group receive?

6. At a dancing school, there are 2 classes. 
The younger class has 65 pupils. The older 
class has 41 pupils. For a dance, there will 
be eight equal groups of dancers. How many 
dancers will there be in each group? 

7. �4śB7<?F�4E8�4EE4A:87�<AGB�5HA6;8F�B9�~��
ŝBJ8EF����ŝBE<FG�5HLF���6E4G8F
�846;�J<G;�
~�}�ŝBJ8EF
�9EB@�BA8�FHCC?<8E�4A7���6E4G8F
�
846;�J<G;�~~��ŝBJ8EF�9EB@�4ABG;8E���BJ�
@4AL�5HA6;8F�B9�~��74śB7<?F�64A�58�@478�
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Multi-Step Division Word Problems Challenge Cards Multi-Step Division Word Problems Challenge Cards

8. A machine produces a toy car every 16 
minutes. The machine is switched on at 
���}4@�846;�@BEA<A:�4A7�FJ<G6;87�Bś�
4F�FBBA�4F�<G�ŜA<F;8F�4�64E�49G8E���~�C@��
How many cars are produced each day?

Answers
1. 24 pencils

2. 45 pages

3. 21 sheets

4. 15 pins

5. £158

6. 13 dancers

7. 150 bunches

8. 33 cars (8.30am 
to 5.15pm is 525 
minutes. 525 ÷ 16 
= 32 r13. The 33rd 
64E�J<??�58�ŜA<F;87�
at 5.18pm.)
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Shadows  

For a shadow to be formed an object must block light. 
The object must be opaque or translucent to make a shadow. A transparent object will 

not make any shadow, as light passes straight through transparent objects.

Task 1 - Testing items 
Select 10 items from around your house and investigate whether it creates a shadow 
or not. Method: take a torch, phone or other light source. Place the item on the table 
or floor and shine the light source through the item. 

What happens? Does it create a large shadow? Is it dark? How did you make it a fair 
test? Fill in the table below. 

How I made it a fair test. 

Household item Shadow or no shadow? Is the item opaque or translucent?

6FLHQFH�5HVRXUFH������SDJHV�



Task 2 - How can I change a shadow?
We are going to find out how changing the distance between the light source and the 
object changes the size of the shadow. Using your knowledge from task 1, what do 
you think will happen? Write a prediction below:

I think that when the item moves away from the light source the shadow will 
___________________________________________________________________
___________________________________________________________________ 
___________________________________________________________________
___________________________________________________________________ 

because______________________________________________________________
____________________________________________________________________
___________________________________________________________________
___________________________________________________________________. 

Method: take a torch, phone or other light source. Place the light source on the end of 
the ruler (we have included one so don’t worry if you don’t have one at home!) and 
the object on 0cm. Draw around the shadow. Repeat, placing the item at 2cm, 4cm, 
8cm, 10cm, 12cm and 14cms. 

What happens to the shadow shape? Does it get longer? Does it get darker or lighter? 
Does it get wider? 

I found out that when the item moves away from the light source the shadow got 
___________________________________________________________________. 

I think this happen because_____________________________________________
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________. 

This is _____________________________ as my prediction. 





$UW�5HVRXUFH������SDJHV�



 

 

Success Criteria

Aim

• Statement 1 Lorem ipsum dolor sit amet, consectetur adipiscing elit.
• Statement 2

• Sub statement  

 

Success Criteria

Aim
• To explain the features and purposes of Maya masks.

• I can explain how Maya masks were used.
• I can locate the Maya civilisation in time and place.
• I can design and make a Maya mask.



 

Who Were the Maya?
The Maya were a civilisation who 
lived in modern-day Mexico, 
Guatemala, Belize, Honduras and El 
Salvador. The Maya civilisation lasted 
from around 1000 BC to AD 1697.

Can you locate the Maya civilisation 
on the map?



 

What Were Masks Used For?

Masks played a central role in Maya culture. They were made for a variety 
of occasions and purposes. In fact, they were even used to decorate 

temples.



 

Event masks were usually 
made out of cedar wood.

Event Masks
Masks were often inspired by animals; they were 
vibrant and colourful. 

The Mayas believed that animals represented 
the spirits. For example, many Maya often 
associated strong kings with jaguars.



 

Death Masks
Mayas were buried with a death 
mask, which was intended to protect 
the wearer on their journey to the 
afterlife.

The death mask of King Pakal is one of the 
most famous Maya artefacts. Pakal ruled the 
city of Palenque for 68 years. During this 
time, the city became very wealthy. 

Each mask was made by hand and 
inspired by the maker’s own imagination. 
Jade, a precious stone, was used because 
it symbolised the soul.



 

Design a Mask
Your task is to design a Maya mask. Decide whether you want to design an 

event mask or a death mask. Use the template to develop your design.

Think about how you will make your mask. 
Which materials will you need? 



Instructions
1. Use the template below to design a Maya mask.

2. Decide whether you are going to make an event or death mask. Use colours and designs to 
suit this.

3. List the equipment and resources you will need.

4. Write simple instructions to help you make your mask.

Maya Masks Activity

Aim: To design and make a Maya mask

Masks played a central role in Maya culture. They were made for a variety of occasions and 
purposes. In fact, they were even used to decorate temples. Wealthy Maya were buried with a 
death mask, which was intended to protect the wearer on their journey to the afterlife.

visit twinkl.com
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